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23 /37



goooo.ogogd

» D000 0OOo0obooobooobobon

» DO0000D000000 e00ODOOOODOOD
» DO0O0000O000000O0bOO0O0O0O0bO000o0oo0on
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# create a classifier instance
cl = NaiveBayes.new

# training

cl.train(’Nobody owns the water.’,’good’)

cl.train(’the quick rabbit jumps fences’,’good’)
cl.train(’buy pharmaceuticals now’,’bad’)
cl.train(’make quick money at the online casino’,’bad’)
cl.train(’the quick brown fox jumps’,’good’)

# classify
sample_data = [ "quick rabbit", "quick money" ]

sample_data.each do |[s]|

print "classifying \"#{s}\" => "

puts cl.classify(s, default="unknown")
end
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OO0000: Classifier Class (1/2)

# feature extraction
def getwords(doc)

words = doc.split(/\W+/)

words.map!{|w| w.downcase}

words.select{|w| w.length < 20 && w.length > 2 }.uniq
end

# base class for classifier
class Classifier
def initialize
# initialize arrays for feature counts, category counts
efc, @cc = {}, {}
end

def getfeatures(doc)
getwords (doc)
end

# increment feature/category count
def incf(f, cat)

efclf] |1= {}

@fc[f][cat] |I=0

@fc[f][cat] += 1
end

# increment category count
def incc(cat)

@cclcat] II=0

@cclcat] += 1
end
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OO0000: Classifier Class (2/2)

def fprob(f,cat)
if catcount(cat) ==
return 0.0
end

# the total number of times this feature appeared in this
# category divided by the total number of items in this category
Float(fcount(f, cat)) / catcount(cat)

end

def weightedprob(f, cat, weight=1.0, ap=0.5)

# calculate current probability

basicprob = fprob(f, cat)

# count the number of times this feature has appeared in all categories

totals = 0

categories.each do |cl

totals += fcount(f,c)

end

# calculate the weighted average

((weight * ap) + (totals * basicprob)) / (weight + totals)
end

def train(item, cat)
features = getfeatures(item)
features.each do |fl

incf (f, cat)

end
incc(cat)

end

end
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OO0 000O: NaiveBayes Class

# naive baysian classifier
class NaiveBayes < Classifier
def initialize
super
Qthresholds = {}
end

def docprob(item, cat)
features = getfeatures(item)
# multiply the probabilities of all the features together
p=1.0
features.each do |fl
p *= weightedprob(f, cat)
end
return p
end

def prob(item, cat)
catprob = Float(catcount(cat)) / totalcount
docprob = docprob(item, cat)
return docprob * catprob

end

def classify(item, default=nil)
# find the category with the highest probability
probs, max, best = {}, 0.0, nil
categories.each do |cat|
probs[cat] = prob(item, cat)
if probs[cat] > max
max = probs[cat]

best = cat
end
end
# make sure the probability exceeds threshold*next best 29
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sample code (1/4)

# dijkstra’s algorithm based on the pseudo code in the wikipedia
# http://en.wikipedia.org/wiki/Dijkstra’27s_algorithm

#

require ’optparse’

source = nil # source of spanning-tree
OptionParser.new {lopt|

opt.on(’-s VAL’) {lv| source = v}
opt.parse! (ARGV)

INFINITY = Ox7fffffff # constant to represent a large number
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sample code (2/4)

# read topology file and initialize nodes and edges
# each line of topology file should be "nodel (-|->) node2 weight_val"
nodes = Array.new # all nodes in graph
edges = Hash.new # all edges in graph
ARGF.each_line do |linel
s, op, t, w = line.split

next if 1line[0] == 7# || w == nil
unless op == "-" || op == "->"

raise ArgumentError, "edge_type should be either ’-’ or ’->’"
end

weight = w.to_i
nodes << s unless nodes.include?(s) # add s to nodes
nodes << t unless nodes.include?(t) # add t to nodes
# add this to edges
if (edges.has_key?(s))

edges[s] [t] = weight

else
edges[s] = {t=>weight}
end
if (op == "-") # if this edge is undirected, add the reverse directed edge

if (edges.has_key?(t))
edges[t][s] = weight
else
edges[t] = {s=>weight}

# sanity check
if source == nil
raise ArgumentError, "specify source_node by ’-s source’"
end
unless nodes.include?(source)
raise ArgumentError, "source_node(#{source}) is not in the graph"
end 33

37



sample code (3/4)

# create and initialize 2 hashes: distance and previous

dist = Hash.new # distance for destination

prev = Hash.new # previous node in the best path

nodes.each do |il
dist[i] = INFINITY # Unknown distance function from source to v
prev[i] = -1 # Previous node in best path from source

end

# run the dijkstra algorithm
dist[source] = 0 # Distance from source to source
while (nodes.length > 0)
# u := vertex in Q with smallest dist[]
u = nil
nodes.each do |vl|
if (tu) || (distlv] < dist[ul)

end
if (dist[u] == INFINITY)
break # all remaining vertices are inaccessible from source
end
nodes = nodes - [u] # remove u from Q
# update dist[] of u’s neighbors
edges[u] .keys.each do |v]|
alt = dist[u] + edges[u] [v]
if (alt < dist[v])
dist[v] = alt
previvl =u
end
end
end

34
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sample code (4/4)

# print the shortest-path spanning-tree
dist.sort.each do |v, dl
print "#{v}: " # destination node
if d != INFINITY
print "(#{d}) " # distance
# construct path from dest to source

i=v
path = "#{i}"
while prev[i] != -1 do

path.insert (0, "#{prev[il} ") # prepend previous node
i = prevl[il

end
puts "#{path}" # print path from source to dest
else
puts "unreachable"
end
end
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